BEEEES

FEMBDIEFRANRE

TH6EE

gt AEEE

4 ABBRERE



FEME (REANRRK)

e ABBRERE

[#zt2 GEREmR)

&R HE 2% Wi
EEIEE
1= 20, 520, 805
ARBRERE
1= 20, 520, 805
ARBRERE
1= 20, 520, 805
REHE R AEEE 1,00, HWAEW EEZY) 4.00E., HFLBEE 1.00
1= 1,093, 764
EintE KBEHES MR 1.00=X, AKBETERE 2. 004hm . /KiBEH AR 8. 00th . HGEEHEZE 2. 00t =,
1% 2,797 091 | BRBIZREEH 1.00X, KEENRENARAERVEBKREIFHRIZRE 30. 004 =
EXREEHAT ]®AK (1) 200, Rk (2) 4001, #£R7K (3) 12.00#h=. #RiE (1) 6.00#=. #RiE (2) 6.00i#hx=.
1 6. 118,078 AHTEER OKERZE) 1.00X. /AR (EEHAE) 1.00X. RESBFR KEHFAE) 1.00=K.
WEEER (EEHFZ) 1.00=
PHERE HEERER (1) (EEEPHAT) 6.00#m, HBER (2) (EEEYHRAE) 6.00i =,
s 5,421,792 EHEER (FS 00 bUBRE (1)) 10.00dR, HHEE (FS500 FUBRE (2) ) 10,0044,
REER (BRAKEEDRAET FRERAZE) ) 220.00m. HHTRE (EEEYRZE) 1.00=K.
DWHER GEMTIU0 FY) 1.0, SEER @IS0 o) 1,00,
AT - BR (BEEWRE) 1.00xX. @ - BB (T509 FURAE) 1.00=,
2T - BE (REAE (H%H=2) ) 1.00xX. @i - TR (FRKEMAZE GRERAZ) ) 1.00x
BEZEHAE BREMHERAE 1.00X. E7YVJHAE 1.00X
1= 392, 500
BREZEKROMYELD ERED®RE 1.00EE (5¥—R)
1= 353, 900
s - S EhiIHEE 1.00E, FREAERE 1.00E, KRS 1.00E
1= 220, 600
BE HBZE 1.00=X., NBRAMRSMER 1.00X
1 173, 400
EEZEE EBERER 1.00X. RE 1.00xX. LM 1.00=K
1= 3,949, 680




FE M (FERE R

8 ABBRERNE

(=3 (GEREEH) |

B HE &% &E
BEANEE
1= 17, 269, 263
ET
11X 7,450, 737
AEFEE
1= 24,720, 000
BRI
1= 3,251, 542
HEAGE
11X 3, 230, 640
HERE
1= 20, 902
Z ORI
1= 1,739, 699
E AL
11X 4,991, 241
—REEEZ
1= 2,678,759
HEREE
11X 7,670, 000
EEES T
11X 32,390, 000
% TElfE
1= 32,390, 000




